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=i =] AH A} 2F S AHE KHD2F ik
= c=e LA AH| + = < =
15/16.8(A) 1276.74 1281,58 166,29 227,42 15.7
Al A 15/16.7(B) 1274,97 128217 162,30 222,07 15.4
14/15(C) 1294.46 1273.36 172,52 232.26 16.1
INE=E=E= SUE(A/B) 0.1 0.0 2.5 2.4
EUE(A/C) -1.4 0.6 -3.6 -2.1
15/16.8(A) 368,21 313,79 58,28 47,16 12,7
| = 15/16.7(B) 362,47 311,87 57,79 43.97 11,9
14/15(C) 377,12 310,63 56,23 47,96 13.1
AMEZE EHE(A/B) 1.6 0.6 0.8 7.3
BUE(A/C) -2.4 1.0 3.6 -1.7
15/16.8(A) 985,61 987,94 123,43 195,09 17.6
Mo A 15/16.7(B) 987,11 991,10 122,56 189,95 17.1
14/15(C) 1006,24 983.79 129,09 197.42 17.7
2 &3 SUE(A/B) -0.2 -0.3 0.7 2.7
EHE(A/C) —2.1 0.4 -4.4 -1.2
15/16.8(A) 347,64 302,91 46,99 43,53 12.4
o| = 15/16.7(B) 343,68 301,26 47,63 40,61 11,6
14/15(C) 361,09 301,13 46,99 45,02 12,9
2 &3 SUE(A/B) 1.2 0.5 -1.3 7.2
SUE(A/C) -3.7 0.6 0.0 -3.3
15/16.8(A) 726,55 714,74 156,21 221,47 25.4
Ml A 15/16.7(B) 721,96 714,20 158,07 219,81 25,2
14/15(C) 725,25 708,94 165,05 209.66 24.0
& o ESUE(A/B) 0.6 0.1 -1.2 0.8
ZLE(A/C) 0.2 0.8 =5.4 5.6
15/16.8(A) 320,05 309,86 127,18 86.88 19.9
Ml Al 15/16.7(B) 318,92 306,23 123,34 91,80 21,4
14/15(C) 319,36 296,93 124,30 80,57 19.1
o5 SLE(A/B) 0.4 1.2 3.1 —5.4
EH=(A/C) 0.2 44 2.3 7.8
15/16.8(A) 106,59 04,21 46,95 12,78 12,6
| = 15/16.7(B) 105,73 53,60 48,31 11,58 11,4
14/15(C) 108,01 59,14 49,67 6,93 6.2
cH = SL2(A/B) 0.8 11 -2.8 10.4
SHUE(A/C) -1.3 -1.7 -5.9 95.7
15/16.8(A) 214,11 211,28 66,21 11,28 4.1
Al A 15/16.7(B) 211,31 208,56 65.91 12,16 4.4
14/15(C) 203,69 199,38 63,36 11,70 4.5
o & st SU8(A/B) L3 1.3 0.5 -1.2
EUE(A/C) 5.1 6.0 4.5 -3.6
15/16.8(A) 40,12 29.85 10,57 0,27 0.7
]} = 15/16.7(B) 39,67 29,30 10,66 0.27 0.7
14/15(C) 40,10 28.89 11,48 0,27 0.7
oy =t Z=7t2(A/B) 1.1 1.9 -0.8 0.0
ZHE(A/C) 0.0 3.3 -7.9 0.0
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15/16.8(A) 14/15(B) 14/13(C) AB
i 232.26 211,17 168,09 109,99 138.18
At 1,276.74 1,294.46 1,281,15 98.63 99.66
Q! 160.68 160.16 156,10 100,32 102,93
=2 1,669.68 1,665.79 1,605.34 100.23 104,01
H| 1,281.58 1,273.36 1,238.07 100.65 103.51
=2 770.79 760.38 736.58 101,37 104.64
E} 510,79 512.98 501,49 99.57 101,85
= 166,29 172.52 164.45 96.39 101,12
ES=l 1,447 87 1,445.88 1,402.52 100,14 103,23
®y Pl 227 .42 232.26 211.17 97.92 107.70
I e 15.71% 16.06% 15.06%
0|2 AIRZE $24%
LN 2
=)
15/16.8(A) 14/15(B) 14/13(C) AB
7] il 47 .96 34.31 23.53 139.78 203,82
A A 368.21 377.12 367.09 97.64 100,31
S el 3.06 3.37 3.23 90.80 94.74
= 2 419.23 414.80 393.85 101,07 106.44
= H 313,79 310,63 305,05 101,02 102,87
At 2 140,44 139,08 133,44 100,98 105,25
7| E} 173.85 171,55 171,61 101.05 101,01
S = 58.28 56.23 54.49 103.65 106.96
= 4 2 372.07 366.86 359,54 101,42 103.49
Jlet o 4716 47.96 34.31 98.33 137.45
M o8 12.68% 13.07% 9.54%
EU AlZ2SE +E3484%8
o=
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15/16.8(A) 14/15(B) 14/13(C) A/
7] i 17.95 15.61 13.08 114.99 137.23
A A 151,92 169.73 159.02 89.51 95.54
ES el 15.36 9.34 16.24 164.45 94.58
= = 185,23 194,68 188,34 95.15 98.35
= H| 161.83 163.10 16411 99.22 98.61
A 2 119,53 120,80 122.36 98.95 97.69
7] E} 42.30 42.30 41,75 100,00 101.32
ES = 9.81 13.63 8.63 71.97 113.67
s 4 2 171,64 176,73 172.74 97.12 99.36
7|2t xf o 13.59 17.95 15.61 75.71 87.06
M o8 7.92% 10.16% 9.04%
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15/16.8(A) 14/15(B) 14/13(C) AB AJC
E~DN In] 197.42 174,97 137.18 112.83 143.91
M Ny 985,61 1006, 24 990.78 97.95 99.48
ES el 121.66 118.57 123,93 102,61 98.17
5 3 = 1304.69 1299.78 1251.89 100.38 104,22
2 L A H| 987.94 983.79 952.99 100,42 103.67
A E 8 605.55 596.92 573,74 101.45 105.54
7] E} 382.39 386.87 379.25 98.84 100,83
S = 123.43 129.09 131,10 95.62 94.15
=2 2 Q 111,37 1112.88 1084.09 99.86 102,52
Jlet o 195.09 197.42 174,97 98.82 111,50
M o8 17.55% 17.74% 16.14%
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(9] @ WigrE
SH=
15/16.8(A) 14/15(B) 14/13(C) B AC
VE < n 45,02 31,29 20.86 143,88 215,82
A A 347.64 361,09 351,27 96.28 98.97
S el 0.76 0.76 0.91 100.00 83.52
s 3 = 393,42 393.14 373,04 100.07 105,46
= Lj A H| 302.91 301,13 292,97 100,59 103,39
A B2 2 134,63 134,63 127.77 100,00 105,37
7| E} 168.28 166.50 165,20 101,07 101,86
S = 46,99 46,99 4878 100.00 96.33
= 4 2 349,90 348.12 341.75 100,51 102.38
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VIEP < n 9.15 6.82 5.15 134.16 177.67
A A 62.25 75.13 64.66 82.86 96.27
- Q! 15.00 9.00 15,92 166.67 94,22
5 3 = 86.40 90,95 85.73 95.00 100,78
= L A H| 78.00 78.00 76.50 100.00 101,96
A E 8 59.00 59.00 58.00 100.00 101,72
7] E} 19.00 19.00 18.50 100,00 102.70
ES = 2.00 3.80 2.40 52.63 83.33
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15/16.8(A) 14/15(B) 14/13(C) AB
i 81,26 77,32 67.57 105,10 120,26
A 225.00 215,67 218.49 104,33 102,98
Q! 3.00 4.30 3.28 69.77 91.46
=2 309.26 297.29 28934 104.03 106.88
H] 219.00 216.00 212.00 101,39 103.30
=2 157.00 156.00 154.00 100.64 101.95
E} 62.00 60,00 58.00 103,33 106,90
= 0.05 0.03 0.02 166.67 250,00
ES=l 219.05 212.00 212,02 103,33 103,32
®y Pl 90.21 81.26 77.32 111,01 116.67
I e 41.18% 38.33% 36.47%
MNA| A >34
LN 2
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15/16.8(A) 14/15(B) 14/13(C) A/
7] il 209.66 193.35 177.02 108,44 118,44
A A 726.55 725.25 71511 100,18 101,60
S el 155.07 160.25 158,24 96.77 98.00
= 2 1091.28 1078.85 1050.37 101.15 103.89
= H 714,74 708,94 698.78 100,82 102,28
A 2 136.10 134,52 126,74 101,17 107.39
7] E} 578,64 574,42 572.04 100.73 101,15
S = 156.21 165.05 165.90 94.64 94.16
= 4 2 870.95 873,99 864.68 99.65 100,73
Jlet o 291,47 209.66 193.35 105.63 114,54
M o8 25.43% 23.99% 22.36%
MNA &yt 34
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15/16.8(A) 14/15(B) 14/13(C) A/B
7] i 11,70 10.63 9.71 110,07 120.49
A A 21411 203.69 189.45 105.12 113,02
> & 62.97 60.11 57.83 104,76 108,89
= = 288.78 274,43 256,99 105,23 112,37
= H| 211,28 199.38 186.31 105,97 113,40
A 2 211,28 199.38 186.31 105,97 113.40
7] E} - - - - -
ES = 66.21 63.36 60.05 104.50 110.26
£ £ 2 277,49 262,74 246,36 105,61 112,64
7|2t xf o 11.28 11,70 10,63 96,41 106,11
M o8 4.07% 4.45% 4.31% -
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0= oSyt +=a34%
(] : wghE
sSH=
15/16.8(A) 14/15(B) 14/13(C) AB AC
E~DN In] 0.27 0.23 0.25 117,39 108,00
A At 40.12 40.10 36.91 100,05 108,70
E Q! 0.30 0.32 0.35 93.75 85.71
5 3 = 40.69 40,65 37.51 100,10 108,48
= L A H| 29.85 28.89 26.81 103.32 111,34
A E 8 29.85 28.89 26.81 103.32 111,34
7] E} - - - - -
S = 10,57 11,48 10,47 92.07 100.96
=2 2 Q 40,42 40.37 37.28 100,12 108,42
Jlet o 0.27 0.27 0.23 100,00 117.39
M o g 0.67% 0.67% 0.62% -
DAty iRt 34
(9] @ WigrE
SH=
15/16.8(A) 14/15(B) 14/13(C) B AC
VE < n 3.64 3.07 3.10 118.57 117.42
A A 30.61 30.53 28.54 100.26 107.25
S el 0.03 0.03 0.03 100.00 100.00
s 3 = 34.98 33.63 31.67 101,93 108,24
2 Lj A H| 15.40 14,98 14,65 102,80 105.12
A B2 2 15.40 14,98 14,65 102,80 105.12
7] E} - - - - -
S = 15.20 15.00 13.95 101.33 108,96
= 4 2 30.60 29.98 28.60 102.07 106,99
Jlet o 3.68 3.64 3.07 101,10 119.87
M o8 12.03% 12.14% 10.73% -
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(9] @ WgrE
SL=
15/16.8(A) 14/15(B) 14/13(C) A/B AC
VIEP < n 4.28 4.46 3.54 95,96 120.90
A A 32.18 29.89 27.89 107.66 115,38
> & - - - - -
5 3 = 36,46 34.35 31,43 106,14 116.00
2 L A H| 2.50 2.22 2.00 112,61 125.00
A E 8 2.50 2.22 2.00 112.61 125,00
7] E} - - - - -
ES = 30.20 27.85 24.97 108,44 120.95
£ £ 2 32.70 30,07 26.97 108,75 121,25
N1y ) 3.76 4,28 4.46 8785 84.30
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